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15%20 2 50m HBEEH 04Mpa] 1 | 11380
18%x23 £ 50m HBEEH 04Mpal 1 | 12880
256%30 £ 50m HAEEH 04Mpa| 1 | 24760
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g
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KR R—X 80%100m 1 8120
KA R—2X 100%100m 1 8760
KR R—R 120%100m 1 | 10500
BRI R—A 140%100m 1 | 12260
KA R— X 160%100m 1 | 14000
KR R—2Z 180%100m 1 | 15760
ok R 2 KR R—X 200%100m 1 | 17500
HEEEAR ) AR—2R 0.2%300%100m| 1 | 14280
BEEEA 1) AR— R 0.2%320%100m| 1 | 15140
HEEEAR 1) R— R 0.2%350%100m| 1 | 16580
F4 Mib—Z& 0.1%*900%50m | 1 7720
Ay kk—R 0.1%1100%50m| 1 9420
A bik—ZR 0.05%300%200m | 2 5140
A kik—ZA 0.05%400%200m | 2 6860
HIEAR U R—2R (EDFD) * EEERFEENMY T
e IR Ha| N
Wi Fa—7 F3 3%6 40m & 6 7660
Wi Fa—7 F4 4%x7 40m # 6 8840
wheFa—7 Fb bx%x8 40m % 6 9340
M Fa—7 F6 6%9 20m # 6 6420
BEFa—7 F7 7x%x11 20m #% 6 9920
#ElFa1—7 F9 9%13 15m # 6 8380
B Fa—7T F12 12%16 10m # 6 6840
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